
































A Let lemon cost oc pence
orange cost y pence

3 43 127

Tx t 4g 161

2K 34
x 34 x 17

z

lemon 17ps

b isosceles 0 so 2x I y
Zx y

Perimeter 2x I g too 30

Simultaneous Eqns Problems



33C t y 31

2x g I

3k y 3 I

5K 532
x I x 6 or 6.4

5

Base 6.4cm

Za Let numbers be x and y
X y 41
X y 7

2x 48
Sc 8

x 24

Sub for a i 24 t y 41
J 41 24

y 17

Numbers are 24 and 17

y 2K t 30
2d a e

x x 2x t y 180



2x g 30

2x y 180

doc 150

x 150 x 37.50
4

Sub for sci
Z 37.5 1 y 180

75 t y 180

y 180 75

y 1050

Angles of 0 are 37.50 37.50 1050

2b Let numbers be x and y

X y 6 2 9 Zo
Z

X 1 y do
X ty 40

x y 6

c 2x 46
x x 23

Subfusc in
23 7 40

y do 23 y C



2C people 230 29 259

S number of small coaches

L number of large coaches

STL 5

395 t 55L 259

455 555 55L 275

165 16
s I 5 1

16

L a

1 Small coach 4 large coaches

2e Ilumbes x y

se g 6

2x t y 6

3x 12

x Ig x 4

Sos for sci
2 a s G

8 t 5 6

y 6 8
Numbers are 4 a d 2 ye z


